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5 clocks

x_1
y_1
x_2
y_2

t_total

1 parameter

p_total

8 discrete

cash_spotted_1
cash_spotted_2

nbFailedPassword_1
nbFailedAmount_1

nbRestart_1
nbFailedPassword_2
nbFailedAmount_2

nbRestart_2

Initial

p_total >= 0 
 & x_1 = 0 
 & y_1 = 0 

 & t_total = 0

ATM_1

U initial True

welcome 3 >= x_1

start_1
  x_1 := 0;   y_1 := 0;

waitingPassword 10 >= x_1

 x_1 = 3
askPassword_1

  x_1 := 0;

nbFailedPassword_1 < 2
incorrectPassword_1

  x_1 := 0;   nbFailedPassword_1 := nbFailedPassword_1 + 1;

cancelling p_total >= t_total 
 & p_total >= y_1

 x_1 = 10
nbFailedPassword_1 = 2

incorrectPassword_1
  nbFailedPassword_1 := nbFailedPassword_1 + 1;

waitChoice 10 >= x_1

correctPassword_1
  x_1 := 0;

the_end True

 p_total = y_1 
 & p_total = t_total

finish

 x_1 = 10

preparingWithdrawalQuick 15 >= x_1

quickWithdrawal_1
  x_1 := 0;

choosingAmount 12 >= x_1

normalWithdrawal_1
  x_1 := 0;

displayingBalance 10 >= x_1

displayBalance_1
  x_1 := 0;

moneyAvailableQuick 20 >= x_1

 x_1 = 15
  x_1 := 0;

 x_1 = 12
nbFailedAmount_1 = 2

incorrectAmount_1
  nbFailedAmount_1 := nbFailedAmount_1 + 1;

nbFailedAmount_1 < 2
incorrectAmount_1

  x_1 := 0;   nbFailedAmount_1 := nbFailedAmount_1 + 1;

preparingWithdrawalNormal 15 >= x_1

correctAmount_1
  x_1 := 0;

 p_total = t_total
press_OK_1

otherOperation 10 >= x_1

 x_1 = 10
  x_1 := 0;  x_1 = 20

(cash_spotted_1 
 |  not  (cash_spotted_1)) 

 &  p_total = t_total
take_cash_1

  cash_spotted_1 := True;

moneyAvailableNormal 20 >= x_1

 x_1 = 15
  x_1 := 0;

 x_1 = 20take_cash_1
  cash_spotted_1 := True;   x_1 := 0;

nbRestart_1 < 1
restart_1

  x_1 := 0;   y_1 := 0;   nbRestart_1 := nbRestart_1 + 1;

terminating p_total >= t_total 
 & p_total >= y_1

press_finish_1 x_1 = 10

 p_total = y_1 
 & p_total = t_total

finish

ATM_2

U initial True

welcome 3 >= x_2

start_2
  x_2 := 0;   y_2 := 0;

waitingPassword 10 >= x_2

 x_2 = 3
askPassword_2

  x_2 := 0;

nbFailedPassword_2 < 2
incorrectPassword_2

  x_2 := 0;   nbFailedPassword_2 := nbFailedPassword_2 + 1;

cancelling p_total >= t_total 
 & p_total >= y_2

 x_2 = 10
nbFailedPassword_2 = 2

incorrectPassword_2
  nbFailedPassword_2 := nbFailedPassword_2 + 1;

waitChoice 10 >= x_2

correctPassword_2
  x_2 := 0;

the_end True

 p_total = y_2 
 & p_total = t_total

finish

 x_2 = 10

preparingWithdrawalQuick 15 >= x_2

quickWithdrawal_2
  x_2 := 0;

choosingAmount 12 >= x_2

normalWithdrawal_2
  x_2 := 0;

displayingBalance 10 >= x_2

displayBalance_2
  x_2 := 0;

moneyAvailableQuick 20 >= x_2

 x_2 = 15
  x_2 := 0;

 x_2 = 12
nbFailedAmount_2 = 2

incorrectAmount_2
  nbFailedAmount_2 := nbFailedAmount_2 + 1;

nbFailedAmount_2 < 2
incorrectAmount_2

  x_2 := 0;   nbFailedAmount_2 := nbFailedAmount_2 + 1;

preparingWithdrawalNormal 15 >= x_2

correctAmount_2
  x_2 := 0;

 p_total = t_total
press_OK_2

otherOperation 10 >= x_2

 x_2 = 10
  x_2 := 0;  x_2 = 20

(cash_spotted_2 
 |  not  (cash_spotted_2)) 

 &  p_total = t_total
take_cash_2

  cash_spotted_2 := True;

moneyAvailableNormal 20 >= x_2

 x_2 = 15
  x_2 := 0;

 x_2 = 20take_cash_2
  cash_spotted_2 := True;   x_2 := 0;

nbRestart_2 < 1
restart_2

  x_2 := 0;   y_2 := 0;   nbRestart_2 := nbRestart_2 + 1;

terminating p_total >= t_total 
 & p_total >= y_2

press_finish_2 x_2 = 10

 p_total = y_2 
 & p_total = t_total

finish


